1

VNRAN

TR30F11TA9H

ER3IEI A F2MFHRERKREL
BRFS VRO T HREH
BIEREDODARE
LE 2RI M OERS
* & H M FER31E3 A FR30E 3 A X BT E R L
IE H (ME 2 ML R | BT 2 mEEREHHR) o =
BAH BAH %
b i = 48, 933 47,180 3.7
=) E3 3] = 1, 654 1,010 63.7
;%Aﬁ;ii TIJ?@*% 2,212 1,423 55. 4
= 12
&M w2 1,502 983 52.7
LE2MEL R BOEMARMNTE LS (EZEHPA)
x R H M FER314E 3 A FER304E 3 A Ef *t il 2 B A kb
i (HE2mEHRIHR) | IS 2 mE AR -
BAH BAH %
AWM R E X 48,398 46, 633 3.8
2 E E 3 19, 611 18, 506 6.0
B OZE E #* # 10, 667 10, 201 4.6
BE £ E & % 9,467 9,157 3.4
EREEAREE - T 8, 651 8,767 A1.3
Zz D 112 N E ¥ 534 547 A2.3
& it 48,933 47,180 3.7
EEXrya - J0—DKR
EEEHICLSF VYo JA— 3,684 M
BEEHIC&LDFvvyia- 70— A1,483HFH
BMEEHICLSFyryia- 70— Al1,948BFH

4% 2 WA HA R A HAR D %

RIR B EHE & BHADRIE R EEE

W B HEBW ugomeppiomes | LM EHE
' oOfm KR OB # 8 953 BAH 4,110 BAHA
Ml B % 2 ] -

1YY [ 1KHEY s

B % o |4fmR| o0

A& M & %

R VDL A 5.00 23.43 21.3
BRI UHRELS (TH) 5.00 = =
1#RE-YERERSE (FR) 10.00 43.61 22.9

XKESMR=1HRI-YEISE 1KY SHRAR

ERLE2E R el

HEEm (5 € 2 @ £ 5[ . . ”
B B 2 pmem =MTE gt ¥ x
BAH BAH %
5% + = 48, 933 100, 000 48.9
wWEeEWYMRE X 48, 398 98, 900 48.9
B & E S 19,611 39,100 50.2
BB E E ¥ 10, 667 21,900 48.7
fE £ E = # 9, 467 19, 200 49.3
ERESHREZE - T 8, 651 18, 700 46.3
0O 0 E E 534 1,100 48.5
= E S F = 1, 654 3,300 50. 1
B ) F = 2,212 4, 200 2.7
BeHBICRET S
i T i I 7 1,502 2,800 53.6

|\



